

Řeš lineární rovnice se závorkami

$$2k - (13 - k) = 2$$

$$2k \quad \underline{\quad} \quad 13 \quad \underline{\quad} \quad k = 2$$

$$\underline{\quad} k \quad \underline{\quad} \quad 13 = 2 \quad / \quad \underline{\quad}$$

$$k = \underline{\quad}$$

$$6(a + 2) - 9(a - 1) = 0$$

$$\underline{\quad} a + \underline{\quad} - \underline{\quad} a + \underline{\quad} = 0$$

$$\underline{\quad} a + \underline{\quad} = 0 \quad / \quad \underline{\quad}$$

$$\underline{\quad} a = \underline{\quad} \quad / \quad \underline{\quad}$$

$$a = \underline{\quad}$$

$$5 + 2 \cdot (2x - 4) = 3x + 2$$

$$5 + \underline{\quad} x \quad \underline{\quad} = 3x + 2$$

$$\underline{\quad} + \underline{\quad} x = 3x + 2 \quad / \quad \underline{\quad}$$

$$\underline{\quad} + \underline{\quad} x = \underline{\quad} \quad / \quad \underline{\quad}$$

$$\underline{\quad} x = \underline{\quad} \quad / \quad \underline{\quad}$$

$$x = \underline{\quad}$$